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Determine the transportation schedule for the data given in the table:
1- Using Vogel's approximation method. ‘

___2-Check for optimality using stepping stone method.
From =
Source 1 [ s4 | [ $3 ] [ $3 | 35
Source 2 LL L 57 | L35 50
Source 3 LS8 32 L 50
Demand 30 65 40 135
- 151 v
AT Rl
5
Optimistic Most Pessimistic [
Immediate time likely time
Activity predecessor a time m b
A = I 2 3
B A 4 6 8
C A 7 8 15
D B 2 5 8
E ‘C,B 3 6 9
F E 3 4 11
G D 9 9 15
H F,G 4 7 16
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Assume a project completion time of thirty-one days after the project begins. From
the above data, perform the following:

a. Draw the PERT network, labeling activities, and compute ES, EF, LS, and LF.
b. Determine the critical path as well as the total slack and free slack.




